INSTRUCTION

Model Product Code

C RACER KTM 390/290 Adventure Rear Guard footrest RFG-KTM390
Www.cCc-racer.com

CONTENTS

1. 2pcs left & Rear Guard footrest + (Plastic cover in Brack & Orange colors)
2. 2pcs screws M6X15 (allen-round head-washer)
3. 2pcs screws M6X30 (allen-round head-washer)
4. 1pcs washers 6X12

5. 2 pcs adaper 8X12X14

6. 4pcs plastic washers 6X18

The product is for race use only
For any further information please do not hesitate to contact us: Tel.: +30 2108075387 Email: info@c-racer.com

INSTRUCTION

Model Product Code

C RACER KTM 390/290 Adventure Rear Guard footrest RFG-KTM390
www.C-racer.com

CONTENTS

1. 2pcs left & Rear Guard footrest + (Plastic cover in Brack & Orange colors)
2. 2pcs screws M6X15 (allen-round head-washer)
3. 2pcs screws M6X30 (allen-round head-washer)
4. 1pcs washers 6X12

5. 2 pcs adaper 8X12X14

6. 4pcs plastic washers 6X18

The product is for race use only
For any further information please do not hesitate to contact us: Tel.: +30 2108075387 Email: info@c-racer.com




	Page 1

